Math 49B (8:30am — 9:20am)
Quiz 6
Fri Nov 7, 2008

What day of the month is your birthday ?

What are the last 2 digits of your address ?

What are the last 2 digits of your zip code ?

What are the last 2 digits of your social security number ? A S
[IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER

NO MATRIX CAPABLE CALCULATORS ALLOWED
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SCORE: __ /20 POINTS

Write an augmented matrix for the following problem. You must state clearly what your unknowns represent.

DO NOT SOLVE THE SYSTEM OF EQUATIONS.

A life insurance company advertises on television, radio and in the local newspaper. The marketing department has an advertising
budget of $27,100 per month. A television ad costs $1,500, a radio ad costs $200, and a newpaper ad costs $400. The department
wants to run 50 ads per month, and have three times as many newspaper ads as television ads. How many of each type of ad can the

SCORE: __/5POINTS

department run each month ?
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QUESTIONS ON OTHER SIDE|
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Solve for X in the equation 3.X + 2 = SCORE: ___ /4 POINTS
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Show and label all row operations performed as shown in class. Check your final answer. Lkgg're-() H’t’fﬁg :
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